PartI: Write the letter for the correct answer in the blank at the right of each question.
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1. Simplify (4x3y)(=3x°yY). \) g 3
y . ) -

(rex®N )(“‘3 5>y AL I |

2. Simplify (2x% —2x+5) —(5x%2 _3x +9).
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3. Find p(-2) if p(x) = 4x? + 9x — 4. e -
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o 2 +4(—Za) =
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4. State the degree of 2x — 5x°> + 7x3 + 6.

For Questions 5 and 6, use the graph shown.

5. State the number of real zeros of the function.
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of the graph.
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8. Use long division to find (2x* +x“ — 14x + 8) + (x — 2).

u‘
2z p
9. Use synthetic division to ﬁn* (x3 +4x% - 10x - 5) = (x +3). 9. x ¢ ){"" 3 * %"
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10. Simplify (x® — 125) + (x — 5) 10.
11. Simplify (c + 5)(c - 3). 11.
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